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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Jane was terribly bored, but she --——-—- interest so as not to hurt her friend’s feelings.
1) admitted 2) validated 3) endeavored 4) feigned

2- Having a -eeeecacaa knowledge of economics, I did not understand anything out of the
speaker's speech.
1) rudimentary 2) superfluous 3) hazardous 4) clandestine

3- In the hands of inexperienced drivers, high-powered cars are actually -—-—
weapons.
1) inflexible 2) lethal 3) regrettul 4) spontaneous

4- The many ======eu- in the text for sure detract from its real value.
1) safeguards 2) variables 3) digressions 4) consistencies

5- The human brain is well known to differ considerably from the chimpanzee brain in
--------— 0f size, organization and complexity, among other traits.
1) light 2) regards 3) terms 4) aspect

6- Irrigation is essential to most high-yield farming, but many aquifers that supply
irrigated crops are being drawn down faster than rain can ----—--—- them.
1) deplete 2) overcome 3) vanish 4) recharge

7- It is a pity that he ---—-—---—- between the two neighboring countries is well rooted and
hard to remove.
1) misanthropy 2) antipathy 3) urgency 4) vagueness

8- Hair that's thick and --——-—-— needs regular trimming.
1) luxuriant 2) arbitrary 3) excessive 4) fragmented

9- Their lack of qualifications --—------- them to a lifetime of boring, usually poorly-paid,
work.
1) devoted 2) conveyed 3) condemned 4) captivated

10-The --—---- - of differences among cultures clearly shows that mental health

professionals are ill advised to apply their classifications of personality disorders to
people from other cultures.
1) dispersal 2) disarray 3) ignorance 4) multitude

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

The Olympic stadium was silent. The spectators held their collective breath. The 100-meter
finalists. crouched against their starting blocks, (11) ===eeeeees their backs as the starter raised
his pistol and announced. "Set... ! Each powerful sprinter. poised to explode when the gun
went off. was keenly aware of what hung in the balance. They had trained (12) --=--=---- every
day for years to prepare their bodies for this one race.

But had they disciplined their minds? The runner who would break the tape would need

(13) ----—---- strong muscles. heart and lungs. He would need concentration, control.
confidence—and an unerring eve (14) ————-m . At this tense moment. one mistimed twitch
could cause a false start and cost him the race. But if he eased off in any way. his first steps
would lag behind (15) -=--------, guaranteeing a loss. “Bang!™
11- 1) they raised 2) raising 3) raise 4) by raising
12- 1) and exhausted 2) to exhaustion

3) for being exhaustive 4) exhausting
13- 1) as well as 2) not only

3) more than 4) by far
14-1) to the finishing line 2) to finish the line

3) for the line to finish 4) on the finish line
15-1) those of his competitors 2) his -::nmpetimrs

3) what did his competitors 4) the one n his competitors
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

The home-schooling trend began in the 1.S. in the 1980s with parents keeping their children
out of public schools so thev could provide religious education at home.Today. as the home
schooling trend continues to grow, parents are more likely to consider home schooling as an
option because they believe schools don't do a very good job of teaching and are occasionally
dangerous places. But can parents really do a better job?

The answer in many cases is ves. In many studies, students taught at home ranked average or
above average when compared to students who went to public schools, More importantly,
these students are often more self-directed and have a greater depth of knowledge. “They are
very well prepared for academic challenges™, says Patricia Riordan, the dean of admissions at
George Mason University.

One such student, Janie Fist. began home schooling at the age of 11.”I was learning
something all the time™ says Fist. Now she's a first-vear student at a college in New Jersey.
Robert Conrad. now a sophomore at Florida International University. claims he really learned
how to study and schedule his time during his eight years of home schooling. Still, not every
student is as successful as Robert,

'For every home-schooling success story. there are an equal number of failures,’ states Henry
Lipscomb. an educational researcher. “There are just so many disadvantages that students
taught at home have to overcome ™. For example, they have fewer chances to interact with
others their own age. Consequently, they sometimes lack the usual social skills. *No matter
what”, though. states Lipscornb.” home schooling is a growing trend. | think we'll be seeing
more and more of this.”

16- What does the passage mainly discuss?

|} A new trend in education

2) The luture of home-schooling

3) How children receive education in the U.S.

4) Parents™ attitudes toward public schools in America
17- The passage states that home-schooling

1) was considered an effective method by American teaclwl s is the 1980s

2) was intended for religious education when it first appeared

3) came into existence during the time schools became dangerous in the U.S.

4) is an American movement that began in public schools in the late 20th century
18- The word “they” in line 2 refers to —=-----cve-u- -

1) children 2) parents 3) schools 4) trends
19-  All of the following are among the advantages of home—schooled students EXCEPT

1) deep knowledge

2) ability to plan how to study

3) above average () scores

4) ability to deal with academic challenges
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20- According to the passage, Henry Lipscomb
1) is an advocate of home-schooling
2) is researching into ways of helping students to socialize more
3) has a very subjective attitude toward the growth of home-schooling
4) believes home-schooled students are less sociable than their peers

PASSAGE 2:

People with normal memory skills as well as brain damaged individuals can benefit from
mnemonics, which are strategies for placing information into an organized context in order fo
remember it. It makes use of information already stored in long-term memory to make
memorization an easier task. Mnemonic systems do not simplity information. in fact. they
make it more elaborate. Furthermore mnemonic systems organize new information into a
cohesive whole so that retrieval of part of the information ensures retrieval of the rest of it.
These facts suggest that the ease or difficulty with which we learn new information depends
not on how much we must learn but on how well it fits with what we already know.

One mnemonic is the pegword method. To use it, you must first learn a series of words to go
with numbers. something like "One is a bun. two is a shoe, three is a tree. tour is a door." This
is fairly easy to learn because the words rhyme with the numbers . Now. when you want to
remember a list of unrelated words. you'd think of some image that combines the pegword and
list. I the first item on the list 1s soap. you might imagine a bun covered with soap bubbles, IT
the second item is apples, you'd picture a shoe stuffed with apples. Later, when you want to
retrieve the list, you begin with your pegwords and the combined images come back to you.

Another technique. the method of loci. was first used by the ancient Romans. First vou think
of a location. Then, for each item you want to remember, you think of a representative image.
something that symolizes that item to you. Finally, you imagine each image in place in the
location. For example, to remember your grocery list. you might imagine the floor of vour
room covered with soap bubbles. The next item is apples. so you picture a giant apple on the
chair just to the right of the door. And you continue this way down the list. When you want to
retrieve the list, you simply think of your room and the things you left lying around it. The
more vivid and unusual your images, the easier they are to remembered

21-  According to the passage, mnemonics ;

1) help us memorize information easily

2) refer to normal memory skills people are born with

3) are strategies for making new Information as simple as possible

4) are used to transfer information from short-term memory to long-term memory
22-  What is the writer’s purpose in paragraphs 2-37

I) To suggest ways to increase the effectiveness of mnemonics

2) To compare strategies for organizing information

3) To describe how best mnemonics can be used

4) To introduce some mnemonics systems

23- It can be inferred from the passage that if new information fits well with what we
already know, .

1) it is easier to memorize

2) retrieving it becomes more difficult

3) part of it may never be retrieved

4) we are likely to forget old information
24- The word “it” in line 23 refers to )

1) thing 2) list 3) room 4) image
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25- According to the passage, the method of loci .
1) helps vou to develop your imagination
2) is the technique ancient Romans used to make grocery lists
3) is similar to the pegword method in its use of words and numbers
4) makes it possible for you to connect images and places in your mind

PASSAGE 3:

In a study released by researchers from Harvard University in September 2009. the
researchers state: "Rewards go further than punishment in building human cooperation and
benefiting the common good.”

Dr. Glenn Latham. a world-renowned researcher in human behavior. would probably agree
with the researchers comments. In Dr. Latham's 35 years of research. he found that
strengthening  desirable behavior through positive reinforcement does more to make a
classroom favorable to learning than any other skill. Research such as this has confirmed this
belief that if teachers want student compliance and cooperation, the best way to achieve it is
through rewarding students for appropriate behavior rather than punishing them for
inappropriate behavior, Part of being a prepared and professional teacher is being ready to
reward and motivate students. Some examples of rewards include: teacher attention. smiling.
nodding. verbal praise, tickets. points, or stickers.

Another imnteresting aspect of the research is when both punishment and rewards are offered.
rewards lead to better outcomes for the group. One of those better outcomes of rewarding
instead of punishing is that people are more willing to contribute to the common good. This is
essential knowledge for teachers because educators need to build a positive. risk-free
environment for students and if educators use rewards as opposed to punishments, students
have a grater likelihood of also contributing to the positive environment. Leading author and
post doctoral researcher at Harvard's Program for Evolutionary Dynamics David Rand says.
"Rewards can change individuals' behavior and encourage cooperation without one destructive
negative consequences that come with punishment.”

"Sometimes it is argued that it is easier to punish people than to reward them." the researchers
write. "We think this is not the case. Life is full of situations where we can help others. These
sorts of productive interactions are the building blocks of our society and should not be
disregarded, "

26- What is the writer’s purpose in this passage?
I) To discuss researches’ opposing views on effective teaching
2) To report the findings of study
3) To compare two psychological notions
4) To emphasize the advantages of rewarding in educational settings
27- The word “compliance” in paragraph 2 is closest in meaning to ,
1 ) attention 2) involvement 3) obedience 4) responsibility
28- It can be inferred from the passage that
1) rewarding can make students better learners
2) psychologists and educators cannot reach agreement about how to treat students
in class
3) most learning contexts are not favorable to leaning from a psychological
standpoint
4) teachers normally give priority to students’ learning achievements than to their
behavior in class
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29- The passage includes information about all of the following EXCEPT ------------

I ) rewards teachers can use

2) negative effects of punishment

3) how students respond to rewarding

4) how to encourage student cooperation in class
30-  Which of the following best describes the tone of the passage?

1) Argumentative  2) Indifferent 3) Objective 4) Skeptical
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